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Students participating in online classes are
taught by an instructor. Following the lesson,
the instructor intends to incorporate reading
materials (e-content, Power point presentation,
etc.) that can be viewed by the students.

What option would instructor choose?

AMTATST ShelTleTl W WTT of 1§ Taenfeian & ueh
3JCITh UGl g U8 o g Ik US-
Tt ( e-Teroer WIHTHT, UTaR Wige Wi 11 )

T ST O Told hidar ¢ Tfor Torameff ==reR

ITTATRT ehY Toh|l THoh TG0 3TTSITeh chia-H

TaIehcq Rt =1 RIITT?

(a) Content creation tools/fasaayq faafor IusHtor

(b) Networking tools/AZafehiT ITHITT

(¢c) Learning Management System (LMS)/37f&mH
Jeig= FUTell (TATHTH)

(d) Links of the websites/dad22d & o

An¥ (¢) : fYeqor Seiga guelt @ S U 9eda]

[ —

atform 39N o1 I8 gema" Rgife,
TC SIRT0T graSsshAl, SOl SrisHl grEiiEy a1
Hga R fasre wEdmdal & fodwer § 989 g2 Sl
g1 Saersd Hensdl § ff LMS &7 3T 8l 8- LMS &
HhlL: -
(1) Installed LMS \/
(i) Web - based LMS \/
(111) Open - Source LMS \/
(1v) Closed Source LMS
(v) LMS with Authoring Tools \/
(vi) Integration Capable LMS —
(vi1) SaaS LMS (Cloud based LMS)




Ans. (b): TiRfa® ot § i f&dt o9 & g fau
T, f9ER, U™ A1 Yol Al & AT Aad
FX ¢ gL T Hfed Fid & &9 § B H g

I & T - 9&"5&@

TF T~ 10% T GHHAT, $ U T

590 WY (10-40)% % THAAC - TH BEI &
AUGTT S Al Hl (GEiRd Tafy & dx SN
ErEEEsEREECE |

ﬁ@— (40-60)% 7% FHAHAT - TH BET @
A1 a8 o erafy & forw dunfim eelg & S
fﬁ@[ dfad foar s

TR ) 60% ¥ S FUFAN - UH B & 39
HIAHA o o0 ToTeRT0] T dyfean S| 7
3h T | fasme (b) 9 2 &/

A student submits Ph.D. thesis in a university.
Upon scrutiny, it is found that his/her thesis
has a similarity content of 35%. This would fall
in which of the following categories of
plagiarism according to UGC regulations?

Teh foremell Teh fagfoenee o o di-Tee.
VLT YOl WAT @Al 1 SHeR YN Weler i
el T W ST fowawg & 35% T W
TR Ty et g1 forgioaes e ST
5 T F e B oA
g < o fohe T U 37Tl ¢

(a) Level 0/&R 0 (b) Level 1/&X 1

(c) Level 2% 2 (d) Level 3/&K 3




14. A study in which a group of participants is
observed and measured over a period of time,
refers to

Ueh 7o TS Wiaefien o Us 9ug ot

T it T ) arT ST T feRaT ST

Sy wETWETR-

a) Longitudinal Researchfaﬂﬁ‘%ﬁ Y

(b) Archival Researclﬂgﬂﬁ@ my

(¢) Cross-sectional Research/3T 9% Y

(d) Correlational Research/9g Tsiel TNY
Ans.(a):-ﬂfﬁ‘&f WY g d9d ug vy fafy ¥ g @
food T & Sfaarht a1 faveesg S &3 ST -3Te §6Y
&t § gderor fhar S 21 39 YRR & Wiy A
fafeear wd aefa fage & &5 & st 3 w0 € ol
Us Sfaumft &1 3TER & YA ST - T gAY W
gdeqor famar s 21




If SEARCH is coded as 214673 and CHART is
coded as 73465, then what will be the code for
TEACHER?

afe SEARCH il 214673 o &0 H hedlg fehdaT
AT § 3 CHART T 73465 o ¥ W &hedg

feram Tar )1 9T TEACHER T fohir @@ &
Wﬁmm‘?@

(a) 5147316 (b) 5174136

(c) 5143716 (d) 5413716




List I List 11

/

Properties

Scale of \/

measurement

Qs
'\pg.g

A. Nominal . Classification and order

2

B. Ordinal ll. Classification, order and equal units

C. Interval I1l. Classification, order,

equal units aﬂe absolute zero )\

D. Ratio IV. Classification only Z

Choose the correct answer from the options given below:

A-LB-1ILC-IILD-IV
2. A-ILB-1LC-=-INV,.D-1l

A-ILB-1,C-1V,D-1

4 A—I‘-.-‘,B—I.C—IE.D—III\/

LEVELS OF MEASUREMENT

G )V /\ Hath
/ Qﬂj
V




(vi) &7 T3 & ¥ v ® 6
vi) e 3 7 T e =
(vii) iy, TR & SR JH W T o

T W fve & % <0 § 39 9 o0 § AR
59 & 4V & 09 9 TG0 T A A e
# & T

National Solar Mission, one of the missions of
National Action Plan on Climate Change
(NAPCC) was launched in the year

Sarg  ufgda weeft wier @ s
(TATHEET) & fao § ¥ U P E@R
oo oht T & | fope ool 31T Temam = en?
(a) 2009 (b) 2010
(c) 2011 (d) 2012

Ans. (b) : YRG HE&HR T Sd1g gRadd W TEH
SRISET (NAPCC) &1 U=t 9 ¥ 30 S[H 2008
S I fRal T A1 98 39 WiEEl & 9gEE Sl @ S
fgpm & @a & Sidfdd @ § Ud Saarg Iidad 1
famef & @rdl o gaEETel ®7 ¥ g5 chtdl%l%'@
SR e 2| —

(i) TFT IR fage - 39 2010 & @F] far @)
i) fasfag oot T & o afe faee

1) Fad fae 9t g faee

V) T femrerl witffest @7 3 o fem




Which of the following names of technology
platforms has been mentioned in NEP-2020
through which online training of teachers will
be encouraged?

% e ifa # fFrafaiad sE-9 Wenie=

it B T T Seong TRaT AT § s T
O Rttt o AT WRTHUT Rl Weddd
foren ST

A. SWAYAM/=E

B. AYUSH/3Ta

C. PARAKH/T@

D. DIKSHA/Srerm 7

E. NIT/UF2MEer

Choose the correct answer from the options
given below:

Hrer fau 7o faekear o o WE SWX T WA
Eﬁlﬁ‘l’@:

(a) Band C only/a\a_clﬁ B &R C
(b) Aand D only/&d@ A HR D
(

)
)
¢) A, Cand D only/&@d A, C 3R D

)

(d) A,BandE only/éTolFI A B AR E

Ans. (b): T e Sifd § @4 qar den ST w1 &
ueEn Rl & sierse s @ Seiid e

S| @Y Ted & AAY § F-9 ¥ GUEAS 0 3

oy foer efogT mem @ yee @ I 2 39
Fiata s e sEsy & & g9ed fear 9 2
aei e uide e 3.0 & Siavd gomn 94 ard e

s

YT AT g |




Ans. (a) : HHEATHS NIE BIEALECRIE! & el | iR Statement-1I : Quantitative research is typically
S ¢ S TS 221 AR DT g a7 3 Hl highly structured whereas in qualitative
3 A research, the approach is invariably
2| 399 32vg M, 3R witerdty fafedt &1 swam Ve

o} \- 5 \ I : ATATHG
mm@fw%‘a?ﬁrwamsrmmwﬁﬁm% ;:é;;w;;%/;;q% SrafF e i W

78 TfYs Gfaa dar 71 TS SHYH gue ¥e &t TiTEr SUTTH BRITaTE BT O SRR 2
Elililﬂ AR el ANl R ¢ e o SRR S | Statement-I1I: Both quantitative and qualitative
‘\:ﬁﬂ ugfa 8 Tﬂ?f Y ﬂldtﬂ g AT AT Wﬁ research are concerned with data reduction.
g UAES R TS A YHR WY AHE & /e 11 : UHTeieh 3R T[0Teeh T ekt o
AR ¥ el dd &1 39 YHR &Y [ SR 11 Sl Yiver STiRSt 3k SR W Wa i B E

I 2| In the light of the above statements, choose the
most appropriate answer from the options

given below:/SUUITh el oF 3Telles W, el
&%ﬁqmﬁmﬁﬁmmﬁw—mw

/ Both Statement I and Statement II are
correct /&I 1 311 41 &l 81
(b) Both Statement [ and Statement I are
incorrect /&< 1 3R 11 H1 Teid &1
(c) Statement I is correct but statement II is
incorrect. /&9 1 T&l &, Tlfeh H9 11 ToTd |

(d) Statement I is mcorreet but Statement 11 is
correct/ HFF 1 TTAd 2, AfhT F97 11 Tl 1




If a researcher wants to select a sample from a
population such that each member in the
population of interest has an equal chance of
being selected in the sample, the researcher in

following : /ﬂﬁ@?ﬁmmﬁw

T IO T W A {AT =A@aT § foh @ed

TAEEAT § Ueieh WEEd okl feayl =& § aa=

TTET YT BIaT &, o TH Ier ol Wlaayt =&

frrafafiaa o 9 &-ur 872

(a) Quota salllplillg/m gfaeyl =g+

(b) Convenience sampling/gfaursi=e feesl T2+

(c) Purposive sampling/Jars-qerd Sfaest g2

(d) Random sampling/3efsd fagsl 9+
Ans. (d) : I TH MuHd SHEET § Sfael & 999 39
YHR § T G-l 2 o &g SEE § TS 95 @l
yfoes 999 § GAM FEE W JaT 8 af 39 WY &
Sfoes agfess faey 9ad g Agfes Jfaeyl 999 |
YIS T & g4 9 H G G I 21 A
AR § 22T UHT FH H God Gl qdd 7| ASed
yiaeyl 799 § o9 (3UEHEad) & YIS TS H A
T @ WoRAT & Td 9W &k ®Y H A I H GHH




ChatGPT Mp 109 languages v

Article Talk (& Read View source View history Tools w
L]

From Wikipedia, the free encyclopedia E

ChatGPT s G chatbot aad virtual assistant developed tQ OpenAl an’ launched on ChatGPT

November 30, 2022. Based on large language models (LLMs), it enables users to refine

and steer a conversation towards a desired length, format, style, level of detail, and
language. Successive user prompts and replies are considered at each conversation
stage as context.[?]

ChatGPT is credited with starting the Al boom, which has led to ongoing rapid \/
investment in and public attention to the field of artificial intelligence (Al).2! By January Developer(s) OpenAl
Initial release November 30, 2022; 20

monthsage =
Stable release July 18, 2024; 32 days agol !
Engine GPT-4

2023, it had become what was then the fastest-growing consumer software application
in history, gaining over 100 million users and contributing to the growth of OpenAl's
current valuation of $86 billion.[II°] ChatGPT's release spurred the release of competing
products, including Gemini, Claude, Llama, Ernie, and Grok.[®! Microsoft launched i
mﬁally based on OpenAl's GPT-4. In June 2024, a partnership between Apple GET. Ao irid
m;}enﬁ\l was announced in which ChatGPT is integrated into the Apple Platform Cloud computing platforms

Intelligence feature of Apple operating systems.m Some observers raised concern Type Chatbot
about the potential of ChatGPT and similar programs to displace or atrophy human Virtual assistant

intelligence, enable plagiarism, or fuel misinformation. 1] Large language model
Generative pre-trained

ChatGPT is built on OpenAl's proprietary series of generative pre-trained transformer transformer
(GPT) models and is fine-tuned for conversational applications using a combination of License== Privative service
supervised learning and reinforcement learning from human feedback.l®! ChatGPT was | Website chatgpt.com 2
released as a freely available research preview, but due to its popularity, OpenAl now




What is ChatGPT full form? A

( Chat GPT@aﬂds for Chat Generative Pre-Trained Transformer and was developed by an

I

Al research company, Open Al. It is an artificial intelligence (Al) chatbot technology that

can process our natural human language and generate a response.

.= Bard ' @) DALLE 2

Gemini / M'craso(‘\/ Microsoft sk Al - Chat S&E

Copilot Copilot with Al...




WERB 1.0

WER 2.0

WERB 1.0

199G — 2004 \/ 2004 - 2016 /

20164

The Hypertext Web

I'he Social Weh

The Semantic Web

I'nm Bemers |.ce

[im O'Relly, —
Dale Dougherty

I'tm Bemers L.ee

Read On |_-,;

Read and Write
Web

Executable Web

Millions of User

Billions of User

Imillons+ of User:

Lcho Syslem

F:lﬂirip:ﬂ won and
Interaction

Understanding sell

One Dwrectional

Hi-hrectional

Multi-user Virtual
CHViITonmenl

Web 1.0 / 2.0/ 3.0 Summary

Crawl \/°

Walk\_~"~

Run \Vd

MostlyRead-Only

Company Focus

WildlyRead-Write

Community Focus

Portable & Personal

Individual Focus

_
( Home Pages [ Blogs / Wikis ) 'LifestrEams/Waves )

OwningContent
Web Forms
Directories

Page Views
BannerAdvertising
Britannica Online

HTML/ Portals

Sharing Content

Web Applications
Tagging

Cost Per Click
Interactive Advertising
Wikipedia

XML/ RSS

Consolidating Content
Smart Applications
User Behavior

User Engagement
Behavioral Advertising
The Semantic Web

RDF/RDFS/ QWL




Sh.

M.

11

12
13
14
15
16
17
s
1%
20

State

Karnataka
Maharashtra
Delha
Telangana
Assam

Delhi

Uttar Pradesh
Kerala
Rajasthan
Uttar Pradesh
West Bengal
Chandigarh
Pondicherry
Tamil Nadu
Meghalaya
Uttar Pradesh
Maharashtra
Delhi

Tamil Nadu
Goa

University library

Indian Institute of Science. Bangalore

Institute of Chemical Technology,

Jawaharlal Nehru University, New Delha
University of Hyderabad, Hyderabad

Tezpur Uni x‘crail}',v

Umniversity of Delhi, New Delhi \/

Banaras Hindu University~""

Indian Institute of Space Science and Technology
Birla Institute of Technology & Science, Pilani

Aligarh Muslim University \J/
Visva Bharati University v~

Punjab University, Chandigarh \/
Pondicherry University, Pondicherry

Bharathiar University, Coimbatore

North Eastern Hill University. Shillong

King Georges Medical University, UL‘I-;I'IUW\/
Homi Bhabha National Institute \/

Jamia Hamdard, New Delhi \/

Amrita Vishwa Vidyapeetham, Coimbatore

Goa Umiversity- Goa

Sowrce: - Ministry of HR& D GOl

Year of
estab.

|

1909
1983
1969
1974
1994
1922
1916
2007
1964
1875
1921
1947
1985
1982
1973
1911
20005
1989
2003
1985

Regular facul
me mbers
426
b 1
534
IR0
227
778
1118
87
535
7440
483
838
359
181
291
328
804
40
1231
b B




Y ear University Library Amount im Ks. mi
0% 2012-13  2013-14
estaky.

2005 Homi Bhabha MNational 214.691 166.448
Institute

1922 Unmiversity of Delhi 75071 93 870

1947 Punjab Umiversity 35911 35.254

1875 Aldigarh Muslim University 7.324 3R.ETI

2003 Amrita Vishwa 18. 714 2T .28B5
Vidvapectham- Coimbatore

1983 Institute of Chemical 16.458 20.220
Technology

1973 Morth Eastern Hill 1 3. 943 16. 786
Umiversity

1 969 Javwaharlal Nehru university 1 2. 700 16 400

1911 King Georges Meoedical 6.548 O OO0
University-Lucknow

1985 Pondicherry University 22115 8.B38

1974 Umiversity of Hyderabad - 2.068 16.392
Hvderabad

2007 Indian insttute of space 12.972 16.916
science and techn

1985 Goa University- Goa 1 3008 1. 236
1982 Bharathiar University 6.138 15.371
1916 Banargs Hindwu University 12598 H_435
1 96 Birla Institute of Tech & 5.002 . 860
Science-Pilani
1 994 Tezpur University 6003 100.339
1921 Wisva Bharati 2.136 11.561
1989 Jamia Hamdard-Mew Delhi 1.378 4645
1 9 Indian Institute of Science 0.860 2. 128
Bangalore
Total & (Average) 492 719 526.8.55
(24 .635) (26.342)
(6.92)*




Which of the following are the strategies of
Congnitive Apprenticeship to develop hi}lel:
order skills among learners?/ =)
Ieoa¥ ThA o hI9Te Tkt of forg f=afeRaa
o o hia-dT Gam=renss fPrerar sht Yuriterat €2
Mentoring, Collaaboration and Socializing/
’ FIEEiIII 3T THTSeRIUT ShIAT

Modelling, Coaching and Scaffolding/gfcsaaur
( T ) SRIfarT 3R urs ("= ) < =

Augmentation, Retention and Explaining/

3TTerel=T, wfererur T =T wREET
( WeRAwHAT-T )

Articulation, Reflection and Exploration/¥dg
TATETRIUT ( =MEFRAITT ), UfafsiaT 2T ar=awuT
( TEFRITARITT ) SheAT

Memorization, Rehearsal and Identifying./
TITTRIOT, et =ma i ug== sh¥aT

Choose the correct answer from the options
given below - /=r=r fau 1@ Terereal @ & WEr SO
ShT A ahilsTal

(a) A and D only/&hdel A AR D

(b) A, C and E only/&aa A, C 3R E

(c) B and D only/ﬁ-ﬁ?f B 3R D

(d) B and C only/ &ad B 31X C

Ans. (¢) : IEE gug # ferior iR dvaa s frgar &
ey ¥ QU fHar srar gn1 dererarss fRrgar fAdw &1 us
Higer @ St 9rd & gvIA o9 & o s SIar 2|
TgH AferHadiel # ST=dl HH & HIve g & fog
o wrifaat o Sy @ wfawsgor, ST, "=




23, Ifx=10 and y = 0.1, which of the following
expressions, has the highest value?/afg x = 10 ;;*f 10)°(0.1)
3 y = (.1, Frfefes #F ° @9 & W \ 00 oo =99.99

=100+0.01=100.01

Ans. (d) : 7 &
x=10
y=0.1




Sustainable Development Goals (SDGs) are
also known as

TERUi=r s erg=n (T Ersi. ) ehr oRer
I ©a W oft AT ATar 22
(a) Agenda—SDfﬂﬁET (W—tﬁ)— 30
(b) Agenda—i?rﬂfm - 35
(¢c) Agenda-17/GSiSl - 17
(d) Agenda—l@f@ﬁ%‘f = T
Ans. (a) : Suoa s === (g 7 Sit) i
% w9 H ST Sidr 81 T, €1 S ?erfiﬂmaﬁ‘r

WWEWWW&T{W@@@W
wree, TE 3FgEa i was fou wifa ik wgs Sshas
Hﬁfﬂmaﬂ:raaﬁ"mﬂﬁﬂqaﬂ?ﬁa*aﬂwm%laﬁ

20W=Hu_ﬁwéiﬂﬁ—mr¢m % =9 H

STOTIT AT 2T |
%aa—m%'la—guaﬁ1a:|aﬁ2mé¥rsm1é’r§mlq F
\ﬂ?lﬁﬁm—r1qam‘trm$ﬁﬁwaﬂaﬁ—r

EI-FTEI-T[EE?J—C@TTI?IIT




List-1 List-I1
Sustainable Goal
Ans. (C) . -{Té:r E’ﬁ'l%’l?l‘ %‘ [()evelopment 'é_l\?ﬁ‘ l)l
. e Seip
=i 1
( Eemufr ) \v%
(TS, 7
T )
A. SDG 2 I. | Sustainable cities and
@é’l\—:ﬂ' 2 communities
TURUiT A 3T |uara
B. SDG3 Il. | Zero hunger
TSI 3 I T
id SDG 6 IIl.| Good health and well
TESiS 6 being
=BT LT 3T =T
D. SDG 11 IV.|Clean water and Sanitation
TS 11 OTeE ST 3T W=aar

Choose the correct answer from the

options given below./fFAferRaa faesmear o
T TE IOL KT AT © |

(a) A-L B-III, C-II, D-IV

(b) A-TII, B-II, C-1, D-IV

(c) A-IL, B-III, C-IV, D-I

(d) A-II, B-IIL, C-1, D-1V

1 W




14. Some of the threats to internal wvalidity

research are:/2TJEEeNT W 3Ticli¥ch oIErdT o <
'@?ﬁ' %
A. Quasi experimental design/3Tei-UT
IS LER]
B. Pre-Testing / adtaTor ud
- Attrition / 31391

Maturation / AROaadT

Choose the correct answer from the options

given below semi colon : /==t fau 1@

o 9 T ST oA

(a) A, B and C only / &hdal A, B 3R C

(b) B, C and D only / Had B, C FAR D

(¢c) B, D and E only/ shdd B, D 3R E

\wl’((]? D and E only / Had C. D AR E

Ans. (d) : SAaRkes  auar 9g dAr g 59 & 9189 &1 UH
WMWW&GW&HWNE@H%W
H dygar & S @Wal [d oS-
aRueF=dar| -




11. The appropriateness, meaningfulness and
usefulness of the specific inferences made from
the measures, is called

O O e faidty fasaest T SUFHT,
retehar 3‘?!‘-{‘31:@1?1?|T hl SHET SATAT
(a) Parallel Test Reliability
araiaL glegor faga-radr @
(b) Interrater Reliability/geX=X fazg=iradar
(c) Test-Retest Reliability
qdregor-g=: qld=707 farg-radn
d) Validity/a&ar
Ans. (d) : AT99 9 1 fafere faseef &Y 3ag<har, arfesdr
mmﬁmaﬂéwmm%’lﬁmuﬂ?
TG 9U=0T o HEsh A 9cndd & foIw ggaher 21
$ & ah smuRa gfEwoT Suar gl=woT fasia 81 1950
dsh duar 9d=oT fagia gsa ¥ 9l R gedEs 9
Heiferg Swar O sTeERa @r| maﬁaawﬁmaw
mw%mﬁmmﬁqﬂﬁﬂfﬂéwaﬂuﬁﬁﬁ
FHAT & aaT T THR F Jar 9ET oY G SeEdr 3R
OEee a9dl i gaad HLEr o |




A Piece of work can be done by 3 boys and 2
men jointly in 10 days. The same work can be
done jointly by 2 boys and 3 men in 8 days. In
how many days the same work can be done by
1 boy and 2 men jointly?/Usk <hTal <kl 3

2T 2 =T=dT fireTaRT 10 o9t O =T Ooha 21 =9

ShTH ©hf 2 oi=sSdh 3T 3 ITTEHT Ticrert 8 Ta=t &
g —m‘{:la-ﬁ%laﬁ—cﬁm'a—ﬁ1c—ﬂ?s—maﬁ12mﬁ{d’r

(3B +2M) <10 = (2B + 3M) =8
14B = 4M
1B = %M Eg| M:Ermfg:ﬂ'_’ B = SIS

HMET 1 SS<hl A 2 SAT=HAT ffereht v oht x To4T 7 6T

W(S\—M+7M]\10 (1IB+2M) <X

( M+’?M]X10—( M+?M] > X

<10 = 16;"1 2







| e In the case of negtively\skewed distribution

AhTIeHh BT o faaT farayur ok O et o
(a) Mean < Mode < Median/H= < fie < fifesg
(b) Mean > Mode > Median/H9 > Al > Hifeam
(¢c) Mean > Median > Mode/H9 > Hifeaq > A
(d) Mean < Median < Mode/H9 < #Hifeaw < Als
Ans. (d) : FHUHAS B9 O fagug faagor & A 7 Ared,
OifegehT S sIgals § dae Funcash faal 2|
JhIUHss w9 o foaun fagwr & @mma @ A" g9I0
HifegenT § SIST SR TAT ANZHHRI, dAgeish d SISl éﬂﬂl

\/ -
ca i
i R ’?;\MX%““

Ncgat‘i}é}—' Skewed Frequency

distribution




List-I List-1I (Year)
(Summit/Protocol )/ T=ir-11
=t 1 (PrEax ( eroi=T)
T/ HISiehicn)

. N[ontreal Protocol - 1992

E“

1987
/SFITET UTETahicT

Choose the correct answer from the options

given below:/i=r fau 7o farercal o 9 W& 39

ShT ST chilsTU:
(a) A-IIIL, B-1, C-1V, D-II
(b) A-III, B-I1, C-11, D-1V

(c) A-I, B-III, C-II, D-IV

(d) A-IV, B-IIL, C-I, D-III
Ans. (a) : T gafaad © -
gifzaer getshia




A brief presentation of entire research for approval of RDC

STEPS IN SYNOPSIS \/

1- Introduction
2- Literature Review (Foreach variable)
3- Statement of the Problem

4- Variables usedin the study

5- Operational Definition of the terms

6- Aims, Objectives and Hypotheses

7- Rationale of the Study

8- Methodology

9- Tools and Techniques of Data Collection
10- Statistics [ —

t

11- Delimitation of the study




Given below are two statements: .
Statement I: (240),, = (11110000), Stgtemept II:
Statement IT: (101011111101010); = (57EA)16 Given binory number

In light of the above statements, choose the (1010 111111 01010)
most appropriate answer from the options _ L G
given below: Grouping all digit in sets of four

=r=r v e fg T R 0101 0111 1110 1010 (Add zero to the last of the
<helH -1: (240), = (11110000), dl ltS)
SHeT —11: (101011111101010), = (57EA)¢ & : : :
Y P i Y Now to convert binary to hexadecimal use the following
T |E ST = table.
(a) Both Statement I and Statement II are Binary Hexa

correct /&I 1 3 11 ST ¥ & | 0000

(b) Both Statement I and Statement II are 0 J\k 0001
incorrect./&F= 1 AT 11 &A1 379 T |
(c) Statement I 1s correct but Statement II is 0010

incorrect./&IF 1 I T, dfhd HIT I T L‘) Py 0011
\9

2 0100

Statement 1 is incorrect but Statement II is

correct. /&Y 1 37T 8, AIfepd 99 11 9T 21 0101

0110

Statement I : (240),4 .:
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The process of deduction in research has the
following steps. Which are they"/?ﬁﬂ H

i wiehar O ffaiaa oo @%r g o hiA-

i | §?

A. Photo-copying the research material/JTer o
Taifare |t Sl WieteRTdr ST

B. Theory/ﬁilﬁ'iﬁ

C. Hypothesis and data collection/UTarehcdT
3T 3T eT Hehe™

D. Data analysis, findings, confirmation or
rejection of hypothesis/ 2TTehgr Tergeryur,

e, WTerheuAT ohi TfE AT 31T Tehicl
E. Preparing the index/3TJehTTUTehT &Y ST

Choose the correct answer from the options
given below:

i e am ferepe S T e
(a) A,BandConly/W A, B 3R C
(b) B,CandDonly/W B.C AR D
(c) C,DandEonly/WC,Dsﬁ'(E
(d) B, D and E only / %ad B, D 3R E

Ans. (b) : THg # fma @& 98 9 ¢ 59d g9 & qed
& 9 % FHROT R RUTT g ¥ IR &1 § i
3G G 9 3G HRUT &I GRUMH TE4 A TTH HW

2

§ g & wftear & fe =20 @ &-

o B




Which of the following gases has maximum
Global Warming Potential (GWP)?

frafaiad o o foRT 3T it Terehad afsieh
o gmer (Sewg W) @?
(a) Chlorofluorocarbans (CFCS)JﬁﬁDﬁﬁT FHTel

(d T )
@ (b) Carbon dioxide (CO, )/ﬂﬁh A | G2t S

()

'c) Sulphur hexafluoride (SF6)/€e®Hi g
FINEE (T Uh)  ———
(d) Methane (CH,)/ 9= (& T=,)
Ans. (¢) : 9o 2 TANE (TH TS, ) 79 & Faifas
Wﬂﬂmﬁﬁ%lﬂﬁ'ﬂ?ﬁ FAFHEH TG 21 I8 T,
~ oftet 9 61‘rﬂ %’| RS HE B3 FA3S




Statement I : Bharatha Muni prescribed
popular dialects for communication among the

lits
O | ; W A 7 AT W W
forw ety anferat fefge at ot

Statement II : Bharatha Muni also prescribed
classical languages for common people for
effective communication.

FR- 11 : W AN 3 e e i
FWIRFAA  foru et et at & fefge
fekam e

Ans.(b):%%-l:%ﬂﬁﬁw?ﬂﬁaﬂﬁwai
o e aiferar fofed &t o

T - 1 5% 44 7 I O 2 SR fft
AEvE A fofed & &1 Jw afm @ ¢ fn
Fat e & & fafg fomn an




Ans. (¢) : TUEIE ga1 1 (ot o1 79 7 9&W 3 i
7 T qF @ e ¢ W e e @ e
ad X 8, T TWEd Feed o

TG G T

- ®1F P

- G &

Which of the following are primary aerosols in
atmosphere?

fataiaa o ‘{?r?zl—?‘l:r—
T &

A. Sea salt/FTSEr 10T

B. Black carbon/sTeh ShTal—
C. Suphate/’él?a-nﬁi

D. Nitrate/ATgee X

E. Mineral particles/@TsT ShUT

Choose the most appropriate answer from the
options given below:

rer fau g fasmcar & @@ SUI~h 3WT hT
=T ehitAu:

(a) A,BandConly;’a—Tcl?'l A,B8ﬁT i

(b) B, C and D only/&dd B, C 3R D

(c) A,BandEonly;’a—x_olFf A,BBﬁTE

(d) C, D and E only/&ad C, D 3T E




38. Which one of the following is a secondary

aerosol?/fFrfeiiigea § W &I AT Uah fgeitar o
fereTer ((URETeT ) 372

(a) Sea salt/HHxl TH

(b) Mineral particles/@lsl T

(c) Black carbon/scid s
(d) Sulphate particles/Tehe HUT
Ans. (d) : f5dtae g foerm (qUare) & =i &0 o




Which of the following are the examples of
Learning Mangement System (LMS) ?

R WeltlA WUl ( UTAUATE ) o Sl
frrafaiaa # ¥ @& 9 82

A. Schoology/FheTTsit

B. Edmodo/TSHTET ( 80>
C. Canvas/chTaTd

D. Bookcreator/sTeh Tehue

E. LearnDash/&=<9T

Choose the correct answer from the options
given below:

e fo T ferehet & W v I
(a) B, D and E only/&d@ B, D 3R E

(b) Aand C onlyfaﬁ?rr A 3R C

(¢) A, B, Cand E only/&dd A, B, C 3R E
(d) B,Cand D only/?ﬁﬁf B.C IR D

Ans. (¢): TTATYH & $& IS0 §-
3o = - |

Zai Ud.UH.TH

Cn, —

ey —
HTA el TH.TH




Match List I with List I

T=r-1 skt T=- 11 9 gafera shiftsg;:

List- I (Medium)/ List II (Disease)/
T=ir-1 (Tre=rm) T=i- 11 ( TET)

A. Water borne/STci— I. Trachoma/2eh T

B. Water | IL. Malaria/Si3=rw
washed/SToT— &ITiar<T
C Water based/<STcl— 111 Cholera/%ﬁlT

IV. Schistosomiasis/

relatedmﬁ‘—u?r&:ﬁ =TT

Choose the correct answer from the options
given below:

(a) A~ B-I C-00 D%
(by AT B-1.¢€-1IV. DIl
(¢} AT, B-IL OO, DIV
(d) AT BTV, CIIT, D-T
Amns. (b) : AT 1 (F==397) =T 11 (J771)
A. ST Sitada
B. STaTiaa
C. ST aATera
D. STeT Halferd




When was printing first invented? \/@
It is traditionally surmised th Johannes Gutenberg, of the

German city of Mainz, developed European movable type
printing technology with the printing press around 1439
and in just over a decade, the European age of printing
began.
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What is the correct sequence of steps in case of inference according to Indian Logic?

(A) Statement of similarity/applicability of the example to case in consideration (upanaya)

(B) Statement of Reason (hetu)
(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijna)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :
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What is correct increasing order of Global
Warming potential (GWP) of following gases?
(A) Nitrous Oxide (N,O)

(B) Carbon dioxide (CO,)

(C) Chlorofluoro Carbon (CFC)

Choose the correct answer from the options
given below:

frafaiRaa |t =r afges 9T gaurar (GWP)
T OET STRE ohT HII-9T1 2
(A) ATSTH MFHETES (N20)
(B) HTE A SEATFETES (CO»)
(C) AT (CHL)
(D) TN wTaET (CFC)
it fau g faereal A 9 9@l SO &1 ==A
SHiftTa:
(a) (A), (B), (C), (D) (b) (A), (©), (B), (D)
(c) (B), (A), (C), (D) (d) (B), (O), (A), (D)
Ans. (d) : dfss 99 Y9l (GWP) ATHsh Ush hideh ohl
ITANT HTH M IT=[H A4 Y Faeierdar &1 T S
ST Ghal &, 39 faft= 49l & gruscia sufieor yuarEt &6t
goT R & fog fasfaa foeam = @) afas ara wauman
(GWP) # 39 IEHE T T& 3T A fa= 28:-
FHEA SE3AFEREES  (CO»)
"o (CHy)—
AEEH JATHFREE (NLO) ——
FAUFAU HAA (CFC) e







